[image: image1.png]6.2-14 Let X1, X5, ..., X, be a random sample of size n from a normal distribution.
(a) Show that an unbiased estimator for o is ¢S, where
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Hint: Recall that the distribution of (n — 1)$%/02 is x*(n — 1).
(b) Find the value of c whenn =5,n = 6.
(¢) Graph c as a function of n. What is the limit of ¢ as » increases without bound?




(The material is from Point Estimation. Technological device is allowed to solve this problem, but please do explain each step of your solution. Thank you.)

